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à

la
pr

es
si

on
P

1
<<

P
0
;

on
su

pp
os

e
v E

>>
v S

.
L’

ea
u

es
t

su
p-

po
sé
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gé

e
ou

au
pé
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èt

re
de

M
ic

he
ls

on
en

la
m

e
d’

ai
r

d’
ép

ai
ss

eu
r

e
av

ec
un

e
so

ur
ce

bi
ch

ro
m

at
iq

ue
de

lo
ng

ue
ur

s
d’

on
de

λ
1

et
λ

2
.O

n
po

se
ν i

=
1 λ
i
,∆

ν
=

1 λ
2
−

1 λ
1

<<
ν 0

=
1 2

(
1 λ
1

+
1 λ
2

) ·

C
al

cu
le

rl
’in

te
ns

it
é

pe
rç
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e,

qu
el

le
es

t
la

fig
ur

e
au

vo
is

in
ag

e
du

ce
nt

re
de

l’é
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é

ρ.
C

al
cu

le
r

le
flu

x
du

ve
ct

eu
r

de
P
oy

nt
in

g
à
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é

de
ne

ut
ro

ns
n
(x

,t
)

da
ns

un
tu

ya
u

cy
lin

-
dr

iq
ue

d’
ax

e
O

x
,s

ou
m

is
au

x
de

ux
ph

én
om

èn
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né

ra
le

,d
es

so
lu

ti
on

de
la

fo
rm

e
n
(x

,t
)

=
h
(x

)e
−

t/
τ

:e
n

dé
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É

di
ti

on
s

O
ffi

ci
el

de
la

Ta
up

e
G

yr
os

co
pe



D
es

si
ne

rl
’im

ag
e

A
′′
B

′′
d’

un
ob

je
ts

it
ué
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le
de

lo
ng

ue
ur

d’
on

de
λ
.
Q

ue
lle

es
t

la
re

la
ti

on
en

tr
e

le
pa

s
du

ré
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à
la

te
ns

io
n

T
0
.

É
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èn

e.
Su

r
qu

el
cô
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ifo
rm

e,
av

ec
un

e
ac

cé
lé

ra
-

ti
on

co
ns

ta
nt

e
"γ

0
.O

n
su

pp
os

e
qu

’il
n’

y
a

pa
s

de
fr

ot
te

m
en

t
et

qu
e

le
ré

fé
re

nt
ie

l
lié

au
so

le
st

ga
lil

ée
n.

θ 0

→ →

z
u r u θ

vé
hi

cu
le

M

O

M
on

tr
er

qu
’il

ex
is

te
un

an
gl

e
θ 0

=
θ E

où
M

es
t

en
éq

ui
lib

re
re

la
ti

f.
R

et
ro

uv
er

θ E
pa

r
un

ra
is

on
ne

m
en

t
én

er
gé

ti
qu

e.
La

po
si

ti
on

d’
éq

ui
lib

re
es

t-
el

le
st

ab
le

?

D
on

ne
r

l’a
ng

le
θ i

po
ur

le
qu

el
le

co
nt

ac
t

es
t

ro
m

pu
.

II
)

P
ou

r
un

flu
id

e
en

éc
ou

le
m

en
t,

m
on

tr
er

,
à

pa
rt

ir
du

pr
em

ie
r

pr
in

ci
pe

,q
ue

∆
(h

+
e c

)
=

w
+

q.
A

pp
lic

at
io

n
à

un
ve

nt
ila

te
ur

de
pu

is
sa

nc
e

10
0
W

,d
e

dé
bi

t
1
m

.s
−

1
,

su
pp

os
é

ad
ia

ba
ti

qu
e,

po
ur

de
l’a

ir
so

uffl
é

à
C

=
10

m
.s
−

1
.

P
la

n
ch

e
15

ab
or

d
ab

le
en

S
u
p

U
ne

pe
rl

e
co

ul
is

se
le

lo
ng

d’
un

ce
rc

le
ri

gi
de

;
à

t
=

0,
el

le
pa

rt
de

B
,

re
lié

e
au

po
in

t
A

di
am

ét
ra

le
m

en
t

op
po

sé
pa

r
un

re
ss

or
t

de
ra

id
eu

r
k

et
de

lo
ng

ue
ur

à
vi

de
l 0

,
av

ec
un

e
vi

te
ss

e
v 0

.
Q

ue
va

ut
la

ré
ac

ti
on

lo
rs

qu
e

la
pe

rl
e

pa
ss

e
en

C
?

A
B

C

.
.

.
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C
on

cou
rs

C
om

m
u
n
s

P
olytech

n
iqu

es-op
tion

-P
C

P
lan

ch
e

1
I)

O
n

donne
deux

m
ilieux

ρ
1 ,C

1
et

ρ
2 ,C

2
délim

ités
par

x
=

0
et

une
onde

incidente
ν

i =
ν
0 exp (i(ω

t−
k
1 x) ).

1.M
ontrer

l’existence
d’une

onde
réflective

et
donner

ν
i ,ν

r ,ν
t
puis

P
i ,P

r ,P
t .

2.
O

n
pose

π
=

P
ν

;
donner

la
signification

physique
en

utili-
sant

l’analogie
électrom

agnétique
;donner

son
nom

;calculer
le

flux
traversant

une
surface

S
.

3.
D

onner
la

définition
de

R
,T

en
fonction

de
π.

O
n

pose

α
=

ρ
1 C

1

ρ
2 C

2
;

déterm
iner

R
et

T
en

fonction
de

α
,

le
coeffi

cient
de

réflexion
r,le

coeffi
cient

de
transm

ission
t.

II)
Fentes

d’Y
oung

:
dans

le
dispositif,

où
est

placé
l’écran

?
C

alculer
l’intensité.

P
lan

ch
e

2
I)

U
ne

onde
transverse

électrique
pour

laquelle
&E

=
E

m
sin

π
xa

e
i(ω

t−
k
z
)&e

y
cir-

cule
dans

un
guide

d’onde.
1.C

alculer
&B
.E

st-iltransverse
?

Q
uelle

équation
vérifie

&E
?

E
n

déduire
la

rela-
tion

de
dispersion.

x

y

z
a

b

C
alculer

la
puissance

m
oyenne

à
travers

le
guide

en
fonction

de
E

m
,µ

0 ,k
,ω

,a,b.
2.

O
n

ferm
e

le
guide

par
un

plan
z

=
L

parfaitem
ent

conducteur.
C

alculer
&E

à
l’intérieur.C

om
m

enter.
II)

C
ycle

de
Stirling

:
-

com
pression

isotherm
e

à
T

f
de

V
1

à
V

2
;

-
chauffage

isochore
à

V
2

de
T

f
à

T
c ;

-
détente

isotherm
e

à
T

c
de

V
2

à
V

1
;

-
refroidissem

ent
isochore

à
V

1
de

T
c

à
T

f .
O

n
donne

C
V

du
gaz.

1.
D

ans
le

diagram
m

e
(T

,S
),donner

l’équation
des

isochores.P
ar

quelle
transform

ation
se

déduisent-elles
les

unes
des

autres?
2.

Tracer
le

cycle
de

Stirling.Q
ue

représente
l’aire

du
cycle

?
3.Tracer

sur
le

m
êm

e
diagram

m
e

le
cycle

de
C

arnot
(deux

isother-
m

es,deux
isentropiques).

4.
M

ontrer
que

le
cycle

de
Stirling

est
m

oteur
et

m
ontrer

que
les

rendem
ents

des
deux

cycles
sont

égaux.

P
lan

ch
e

3
I)

Le
schém

a
ci-contre

représente
deux

surfaces
conductrices

sépa-
rées

par
du

vide.U
ne

intensité
I

=
I
0 cos(ω

t−
k
z)

parcourt
les

surfaces
dans

le
sens

inverse
l’une

de
l’autre.

P
ar

des
argum

ents
de

sym
étrie

et
d’inva-

riance
:

&B
=

B
(r,z,t)&e

θ
et

&E
=

E
(r,z,t)&e

r .
1.

E
n

utilisant
M

axw
ell-A

m
père

intégral,trouver
l’exprssion

de
&B

dans
les

trois
régions

de
l’espace

en
fonction

de
I

et
r.

y

x

M
r

R
1

R
2

θ+

I

I
.

.

2.
E

n
utilisant

M
axw

ell-A
m

père
local,

trouver
une

relation
entre

∂
B∂
z

et
∂
E∂
t
·E

n
déduire

&E
.

3.
M

ontrer
que

se
propage

à
l’intérieur

des
surfaces

conductrices,
une

onde
électrom

agnétique
que

l’on
précisera.
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II)
Trouver

les
plans

focaux
du

systèm
e

S
en

fonction
de

f,distance
focale

de
L

1

et
L

2 ,et
e.

L
1

Se

L
2

P
lan

ch
e

4

I)
U

n
réseau

de
pas

a
est

éclairé
par

un
angle

d’incidence
i0 .Soit

p
l’ordre

m
axim

al(p
!

2).
D

onner
la

relation
liant

a,
p

et
i0 .

D
ém

ontrer
la

form
ule

liant
sin

i0 ,
a,

p
et

sin
i

(où
i

est
l’angle

de
sortie

du
réseau).

II)
E

xercice
classique

traitant
de

l’étude
d’un

filtre
avec

fonction
de

transfert,pulsation
de

coupure
à
−

3
dB

et
diagram

m
e

de
B

ode.

P
lan

ch
e

5
I)

La
corde,de

tension
T

et
m

asse
linéique

µ
est

fixe
en

O
et

L
.

D
onnerl’équation

aux
dérivéespar-

tielles
décrivant

le
m

ouvem
ent.

Si
y

n (x
,t)

=
A

n
sin(k

n
x)sin(ω

n
t+

φ)
est

une
solution

particulière,
don-

ner
k

n
et

ω
n

en
fonction

de
n
,L

,C
.

m x

y

O
L

3.
D

onner
l’énergie

cinétique
d’un

m
orceau

de
corde

M
N

situé
entre

x
et

x
+

d
x.

M
ontrer

que
l’énergie

cinétique
de

la
corde

se
m

et
sous

la
form

e
E

c
=

A
2n
C

1 cos
8(ω

n
t

+
φ)

et
exprim

er
C

1
en

fonction
de

L
,n

,C
.

4.
E

xprim
er

la
longueur

dS
de

la
corde

M
N

en
fonction

d’une
dérivée

partielle
de

y.E
n

déduire
l’élargation

totale
de

la
corde.

5.M
ontrer

que
l’énergie

potentielle
de

la
corde

se
m

et
sous

la
form

e
E

p
=

C
2 A

8n
sin

8(ω
n
t+

φ)
et

exprim
er

C
2 .

6.
D

onner
l’expression

de
l’énergie

totale
E

=
K

n
A

8N
et

exprim
er

K
n .

II)
P
ourle

circuitci-contre

exprim
er

T
(jω

)
=

V
s

V
e

·

D
onner

la
condition

sur
C

et
C

′pour
que

|T
(jω

)|=
1

√

1
+

ω
4

ω
20

·
+-

V
e

C

V
s

C'

A B

P
lan
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e
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I)
P
ourle

circuitci-contre,donner
H

=
V

s

V
e
·

O
n

pose
H

=
G

e
jφ

:calculer
G

(x)
avec

x
=

R
C

1 ω
et

φ(x);
tracer

les
deux

graphes.
V
s

R
1

C
1

D
éterm

iner
la

bande
passante

à
−

3
dB

.D
onner

la
nature

du
filtre.

Q
ue

se
passe-t-ilpour

les
basses

fréquences?

II)
C

alculerla
fonction

de
trans-

fert
de

ce
nouveau

circuit.
V's

R
1

C
1

+ -

R
1

R
2

II)
D

eux
sphères

concentriques
de

rayons
R

1
<

R
2

sont
séparées

par
un

m
ilieu

hom
ogène

et
istrope

de
conductivité

therm
ique

k.
La

sphère
1

est
à

tem
pérature

T
1 ,

la
sphère

2
à

tem
pérature

T
2

et
le

transfert
est

perm
anent.

C
alculer

la
résistance

therm
ique

en
fonction

de
k
,R

1 ,R
2

dans
l’espace

entre
les

deux
sphères.
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P
lan

ch
e

7
I)

La
spire

représentée
ci-contre

est
de

rayon
a

et
a

une
vitesse

de
rotation

initiale
ω

0
;le

cham
p

&B
=

B
&e

x
extérieur

est
perm

anent;
on

note
&n

le
vecteur

norm
alà

la
spire

et
θ

l’angle
(&e

y ,&n).

→

z

B
x

ω
0→n

1.Justifier
qualitativem

ent
le

m
ouvem

ent
ultérieur

de
la

spire
pour

t
>

0.
2.

D
éterm

iner
la

force
électrom

otrice
induite.

3.
O

n
pose

ω
=

d
θd
t

et
on

note
I

=
12

m
a
2

le
m

om
ent

d’inertie
;en

utilisant
un

aspect
énergétique,déterm

iner
l’équation

différentielle
du

m
ouvem

ent.
II)

D
éterm

iner
la

longueur
m

inim
ale

a
0

d’une
aiguille

plantée
au

centre
d’un

bouchon
de

liège
cylindrique

de
longueur

2R
,

d’épaisseur
négligeable,

flottant
sur

l’eau,
pour

qu’un
observateur

placé
dans

l’air
puisse

voir
la

tête
de

l’épingle.

P
lan

ch
e
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I)

U
ne

onde
électrom

agnétique
de

longueur
d’onde

λ
=

6.10
−

7nm
se

déplace
dans

le
vide.

Le
cham

p
m

agnétique
&E

a
pour

com
-

posantes
E

x
=

E
0 e

jφ
avec

φ
=

k3
(2x

+
2y

+
z)−

ω
t,

E
y ,

E
z

=
0.

C
alculer

la
fréquence

de
l’onde.À

queldom
aine

appartient-elle
?

D
onner

l’équation
du

plan
d’onde.

C
alculer

E
y

en
fonction

de
E

x .Les
deux

ondes
sont-elles

en
phase

?
C

alculer
&B

en
fonction

de
E

x .
C

alculer
la

densité
d’énergie

électrom
agnétique

en
fonction

de
φ.

C
alculer

le
vecteur

de
P
oynting.

II)
U

n
récipient

de
parois

diatherm
anes,

ferm
é

par
un

piston
lui-

m
êm

e
diatherm

ane,contientune
m

ole
d’eau

dontla
fraction

vapeur
est

assim
ilée

à
un

gaz
parfait.À

l’état
initial,le

piston
est

bloqué
à

V
i

=
0,1

m
3,

T
i ,

P
i ,

la
tem

pérature
extérieure

vaut
T

0
=

373
K

,

la
pression

extérieure
P

0
=

1
bar.

O
n

bloque
ensuite

le
piston

à
V

f
=

0,01
m

3.
Q

uelest
l’état

de
l’eau

au
départ?

M
ontrer

que
l’eau

est
sous

deux
phases

à
l’état

finalet
calculer

la
fraction

m
olaire

en
vapeur

d’eau.
D

onnerlesvariationsenthalpique
etentropique.E

n
déduire

l’entropie
créée.
Q

uelest
le

travailm
axim

um
récupérable

par
le

piston
?

P
lan

ch
e
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I)

U
n

plateau
et

deux
rouleaux

sont
posés

sur
un

plan
incliné

sur
lequelily

a
roulem

ent
sans

glissem
ent,

ainsi
que

par
rapport

au
plateau.L’ensem

ble
est

sans
vitesse

initiale.
α

→g

Faire
un

schém
a

le
plus

com
plet

possible
(vitesse,forces,m

om
ents,

etc.)
à

la
date

t.
É

crire
lesrelationsciném

atiquesduesau
roulem

entsansglissem
ent.

E
xprim

er
l’énergie

cinétique
du

systèm
e

en
fonction

de
la

vitesse
de

translation
du

plateau.
E

n
déduire

l’accélération
et

les
m

ouvem
ents

horaires
du

plateau.
II)

La
différentielle

de
l’énergie

libre
d’un

fluide
hom

ogène
est

donnée
par

la
relation

d
F

=
−

S
d
T
−

pd
V

.
E

xpliquer
à

quoicorrespond
chaque

lettre
et

com
m

ent
on

arrive
à

cette
expression.

F
(T

,V
)

=
k
T

(1
−

ln
TT
0 )

−
aV

−
R

T
ln

V
−

bV
0 −

b
représente

l’énergie
libre

de
ce

fluide.
D

onner
les

expressions
de

S
(T

,V
)

et
U

(T
,V

).
Lors

d’une
détente

de
Joule-G

ay-Lussac,
on

passe
d’un

systèm
e

à
la

tem
pérature

T
1

et
au

volum
e

V
1

à
un

systèm
e

à
tem

pérature
T

2

et
volum

e
V

2
=

α
V

1
avec

α
>

1.E
xprim

er
T

2 .
Trouver

l’équation
d’état

de
ce

fluide.
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I)

U
n

hangardem
i-cylindrique

de
rayon

R
petitdevantsa

longueur
L

,estsoum
is

au
vent(trèséloigné)de

vitesse
&V

=
V

0 &u
x .

Ily
a

une
ouverture

en
A

et
ilcontient

un
fluide

au
repos

à
la

pression
P

A
.

x

z

O
A

O
n

suppose
le

fluide
parfait,

incom
pressible,

irrotationnel.
O

n
ne

néglige
pas

les
effets

de
la

pesanteur.
C

om
m

enter
brièvem

ent
les

hypothèses.

V
érifier

que
la

vitesse
s’écrit

&V
=

−−→
grad

φ
avec

φ
=

(α
r
+

βr
)cos

θ
et

exprim
er

α
et

β
en

fonction
de

R
et

V
0 .D

onner
l’expression

de
&V

à
la

surface.
C

alculer
la

force
par

unité
de

longueur,
exercée

par
le

vent
sur

le
hangar.
II)

U
n

m
iroir

de
largeur

A
B

=
a

et
de

longueur
b

>>
a

reçoit
une

onde
m

onochrom
atique

de
fais-

ceau
parallèle

faisant
un

angle
α

avec
la

norm
ale.

O
n

lim
itera

l’étude
au

plan
yA

z
et

on
orien-

tera
les

angles.
y

z

A
B

M

α'
α

R
appeler

le
principe

de
H

uygens-Fresnel.
O

n
étudie

les
interférences

à
l’infinidans

la
direction

α
′.E

xprim
er

en
fonction

de
sin

α
,sin

α
′,y,la

différence
de

m
arche

entre
un

rayon
passant

par
A

(qui
servira

de
référence)

et
un

rayon
passant

par
M

(0,y,0).
D

onner
l’expression

de
l’intensité

diffractée.
Tracer

I
en

fonction
de

sin
α
′;on

donnera
l’abscisse

du
m

axim
um

et
celle

du
prem

ier
m

inim
um

.À
quoicorrespond

le
m

axim
um

?

P
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L’am

plificateur
opération-

neldu
circuit

ci-contre
est

supposé
idéal

et
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